

AN EXPLICIT CONSTRUCTION OF IMMERSIONS BETWEEN COMPLEX PROJECTIVE SPACES

YOSHIYUKI KURAMOTO

*Department of Mathematics Education
Faculty of Education, Kagoshima University
Kagoshima 890-0065, Japan
e-mail: kuramoto@edu.kagoshima-u.ac.jp*

Abstract

In this paper we construct explicitly an analytic immersion $\mathbf{CP}^n \rightarrow \mathbf{CP}^{2n}$ of degree $d > 2$ in case when $n + 1$ is a prime. The proof uses special values of minors of Vandermonde's determinant.

1. Introduction and Statement of Results

The existence problem of embeddings or immersions between given differentiable manifolds is a fundamental problem in differential topology. It has been mainly treated in case when the target manifold is an Euclidean space. When the target manifolds are some other manifolds such as real or complex projective spaces or lens spaces, some results have been obtained in ([1], [4], [5], [6], [7], [8], [9]). In this paper we treat analytic immersions between complex projective spaces.

Let \mathbf{CP}^n denote the complex projective space of dimension n . For a continuous map $f : \mathbf{CP}^n \rightarrow \mathbf{CP}^m$ with $n \leq m$, the degree of f which we denote by $\deg(f)$ is the integer determined by the induced

2000 Mathematics Subject Classification: Primary 57R42; Secondary 15A03, 15A15.

Keywords and phrases: immersions, complex projective spaces, degree of a map.

Received September 17, 2005

© 2006 Pushpa Publishing House

homomorphism $f^* : H^2(\mathbf{CP}^m, \mathbf{Z}) \cong \mathbf{Z} \rightarrow H^2(\mathbf{CP}^n, \mathbf{Z}) \cong \mathbf{Z}$. It is well known that the homotopy class of f is completely characterized by $\deg(f)$ ([1], [8]).

On the existence of an analytic embedding or immersion $\mathbf{CP}^n \rightarrow \mathbf{CP}^m$ of given degree, the following facts are known:

Fact 1. For any $d > 0$ there exists an analytic embedding $\mathbf{CP}^n \rightarrow \mathbf{CP}^{2n+1}$ of degree d and an analytic immersion $\mathbf{CP}^n \rightarrow \mathbf{CP}^{2n}$ of degree d [1, Theorem 1.2].

Fact 2. If $f : \mathbf{CP}^n \rightarrow \mathbf{CP}^m$ is an analytic immersion and $m < 2n$, then $\deg(f) = 1$ [1, Theorem 2.1].

Fact 3. A map $f : \mathbf{CP}^n \rightarrow \mathbf{CP}^{2n}$ is homotopic to an analytic embedding if and only if $\deg(f) = 1$ or $\deg(f) = 2$ [1, Theorem 2.2].

An explicit construction of an analytic embedding $\mathbf{CP}^n \rightarrow \mathbf{CP}^{2n}$ of degree 2 is given in [2]. In this paper we give an explicit construction of an analytic immersion $\mathbf{CP}^n \rightarrow \mathbf{CP}^{2n}$ of given degree $d > 2$ in case when $n + 1$ is a prime.

Our theorem is the following:

Theorem 1.1. Let d be an integer such that $d > 2$. We define homogeneous polynomials $f_i(z) = f_i(z_0, z_1, \dots, z_n) \in \mathbf{C}[z_0, z_1, \dots, z_n]$ ($i = 0, 1, \dots, 2n$), by

$$f_i(z) = \begin{cases} z_i^d, & \text{if } 0 \leq i \leq n, \\ \sum_{j=0}^n z_j z_{j+i-n}^{d-1}, & \text{if } n < i \leq 2n+1, \end{cases}$$

where \bar{k} is the residue of k divided by $n + 1$.

Then $f = (f_0, \dots, f_{2n})$ induces an analytic map $\bar{f} : \mathbf{CP}^n \rightarrow \mathbf{CP}^{2n}$ defined by $\bar{f}([z_0, z_1, \dots, z_n]) = [f_0(z), f_1(z), \dots, f_{2n}(z)]$, where $[z_0, z_1, \dots, z_n]$ is the point of \mathbf{CP}^n whose homogeneous coordinate is (z_0, z_1, \dots, z_n) . If $n + 1$ is a prime, then \bar{f} is an immersion of degree d .

The proof of Theorem 1.1 is reduced to the following:

Theorem 1.2. *For any point $(a_0, \dots, a_n) \in \mathbf{C}^{n+1} - \{0\}$, we define the $(n+1) \times (2n+1)$ matrix J as follows:*

$$J = \begin{pmatrix} a_0 & 0 & 0 & \cdots & 0 & a_1 & a_2 & \cdots & a_n \\ 0 & a_1 & 0 & \cdots & 0 & a_2 & a_3 & \cdots & a_0 \\ 0 & 0 & \ddots & \ddots & \vdots & \vdots & \vdots & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & 0 & a_n & a_0 & \cdots & a_{n-2} \\ 0 & 0 & \cdots & 0 & a_n & a_0 & a_1 & \cdots & a_{n-1} \end{pmatrix}.$$

Then $\text{rank } J = n+1$, if $n+1$ is a prime.

To prove Theorem 1.2, we use the following proposition.

Proposition 1.3. *Let p be a prime and $\zeta = \exp(2\pi\sqrt{-1}/p)$. We define the $p \times p$ matrix P by*

$$P = \begin{pmatrix} 1 & 1 & 1 & \cdots & 1 \\ 1 & \zeta & \zeta^2 & \cdots & \zeta^{p-1} \\ 1 & \zeta^2 & \zeta^4 & \cdots & \zeta^{2(p-1)} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 1 & \zeta^{p-1} & \zeta^{2(p-1)} & \cdots & \zeta^{(p-1)^2} \end{pmatrix}.$$

Then for any integer r ($1 \leq r \leq p$), any r -th minor of P is not equal to zero.

2. Proofs of Theorems

In this section we prove Theorems 1.1 and 1.2 assuming Proposition 1.3. Proposition 1.3 will be proved in the next section.

In general, if a map $\bar{f} : \mathbf{CP}^n \rightarrow \mathbf{CP}^m$ is defined by $f = (f_0, \dots, f_m) : \mathbf{C}^{n+1} - \{0\} \rightarrow \mathbf{C}^{m+1} - \{0\}$, where f_j ($j = 0, \dots, m$) are homogeneous polynomials of degree d , then $\deg(\bar{f}) = d$ (see for example [1]), and if f is an immersion, then \bar{f} is an immersion. Thus to prove Theorem 1.1, it suffices to prove that the Jacobian matrix $J(f)$ of $f : \mathbf{C}^{n+1} \rightarrow \mathbf{C}^{2n+1}$ has maximal rank for any $(z_0, \dots, z_n) \in \mathbf{C}^{n+1} - \{0\}$, if $n+1$ is a prime.

The Jacobian matrix $J(f)$ of the map f in Theorem 1.1 is

$$\begin{pmatrix} dz_0^{d-1} & 0 & 0 & \cdots & 0 & z_1^{d-1} + (d-1)z_n z_0^{d-2} & z_2^{d-1} + (d-1)z_{n-1} z_0^{d-2} & \cdots \\ 0 & dz_1^{d-1} & 0 & \cdots & 0 & z_2^{d-1} + (d-1)z_0 z_1^{d-2} & z_3^{d-1} + (d-1)z_n z_1^{d-2} & \cdots \\ 0 & 0 & \ddots & \ddots & \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \ddots & \ddots & 0 & z_n^{d-1} + (d-1)z_{n-2} z_{n-1}^{d-2} & z_0^{d-1} + (d-1)z_{n-3} z_{n-1}^{d-2} & \cdots \\ 0 & 0 & \cdots & 0 & dz_n^{d-1} & z_0^{d-1} + (d-1)z_{n-1} z_n^{d-2} & z_1^{d-1} + (d-1)z_{n-2} z_n^{d-2} & \cdots \end{pmatrix}.$$

If we put $z_i^{d-1} = a_i$ ($i = 0, 1, \dots, n$) and define the $(n+1) \times (2n+1)$ matrix J by

$$J = \begin{pmatrix} a_0 & 0 & 0 & \cdots & 0 & a_1 & a_2 & \cdots & a_n \\ 0 & a_1 & 0 & \cdots & 0 & a_2 & a_3 & \cdots & a_0 \\ 0 & 0 & \ddots & \ddots & \vdots & \vdots & \vdots & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & 0 & a_n & a_0 & \cdots & a_{n-2} \\ 0 & 0 & \cdots & 0 & a_n & a_0 & a_1 & \cdots & a_{n-1} \end{pmatrix},$$

then it is easily seen that $\text{rank } J(f) = \text{rank } J$ for $(z_0, \dots, z_n) \in \mathbf{C}^{n+1} - \{0\}$. Thus the proof of Theorem 1.1 is reduced to Theorem 1.2.

Now assuming that Proposition 1.3 holds, we prove Theorem 1.2. Let V be the vector space over \mathbf{C} consisting of $n+1$ dimensional complex column vectors, and $\mathbf{e}_0, \mathbf{e}_1, \dots, \mathbf{e}_n$ be the standard unit vectors in V . We denote $\mathbf{v} = a_0 \mathbf{e}_0 + a_1 \mathbf{e}_1 + \cdots + a_n \mathbf{e}_n$, and define the $(n+1) \times (n+1)$ matrix T by

$$T = \begin{pmatrix} 0 & 1 & 0 & \cdots & 0 \\ 0 & 0 & 1 & \ddots & \vdots \\ \vdots & \vdots & 0 & \ddots & 0 \\ 0 & \vdots & \vdots & \ddots & 1 \\ 1 & 0 & 0 & \cdots & 0 \end{pmatrix}.$$

Then the column vectors of the matrix J are

$$a_0 \mathbf{e}_0, a_1 \mathbf{e}_1, \dots, a_n \mathbf{e}_n, T\mathbf{v}, T^2\mathbf{v}, \dots, T^n\mathbf{v},$$

and the eigenvalues of T are $1, \zeta, \zeta^2, \dots, \zeta^n$, where $\zeta = \exp(2\pi\sqrt{-1}/(n+1))$, and the corresponding eigenvectors are

$$\begin{pmatrix} 1 \\ 1 \\ \vdots \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ \zeta \\ \vdots \\ \zeta^n \end{pmatrix}, \begin{pmatrix} 1 \\ \zeta^2 \\ \vdots \\ \zeta^{2n} \end{pmatrix}, \dots, \begin{pmatrix} 1 \\ \zeta^n \\ \vdots \\ \zeta^{n^2} \end{pmatrix}$$

which we denote by $\mathbf{p}_0, \mathbf{p}_1, \dots, \mathbf{p}_n$ respectively.

We define the subspaces W_1 and W_2 of V by

$$W_1 = \langle a_0 \mathbf{e}_0, a_1 \mathbf{e}_1, \dots, a_n \mathbf{e}_n \rangle, \quad W_2 = \langle \mathbf{v}, T\mathbf{v}, \dots, T^n \mathbf{v} \rangle.$$

We put $\dim W_2 = r$.

Lemma 2.1. *There exist r integers i_1, \dots, i_r ($0 \leq i_1 < \dots < i_r \leq n$) such that $W_2 = \langle \mathbf{p}_{i_1}, \dots, \mathbf{p}_{i_r} \rangle$ and $\mathbf{v} = \sum_{k=1}^r \alpha_{i_k} \mathbf{p}_{i_k}$, where $\alpha_{i_k} \neq 0$.*

Proof. Since W_2 is a T -invariant subspace of V and T is diagonalizable, W_2 is a direct sum of eigenspaces of T . Therefore $W_2 = \langle \mathbf{p}_{i_1}, \dots, \mathbf{p}_{i_r} \rangle$ for some i_1, \dots, i_r . Hence $\mathbf{v} = \sum_{k=1}^t \alpha_{j_k} \mathbf{p}_{j_k}$, where $\alpha_{j_k} \neq 0$ for some $\{j_1, \dots, j_t\} \subset \{i_1, \dots, i_r\}$ because $\mathbf{v} \in W_2$. Let $\langle \mathbf{p}_{j_1}, \dots, \mathbf{p}_{j_t} \rangle = W'_2$. Then W'_2 is a T -invariant subspace containing \mathbf{v} and $W'_2 \subset W_2$. Since W_2 is the minimal T -invariant subspace containing \mathbf{v} , we have $W'_2 = W_2$ and therefore $\{j_1, \dots, j_t\} = \{i_1, \dots, i_r\}$. This completes the proof.

Note that $\text{rank } J = \dim(W_1 + W_2)$ since $\mathbf{v} \in W_1$. If we denote by s the number of zeroes in a_0, \dots, a_n , then $\dim W_1 = n + 1 - s$.

We denote $\mathbf{p}_i = \sum_{j=0}^n p_{ji} \mathbf{e}_j$, $p_{ji} = \zeta^{ji}$ for $0 \leq i \leq n$.

Now we assume that $n + 1 = p$ is a prime. If $s = 0$, then $W_1 = V$. Hence we assume that $s \geq 1$. Then there exist integers j_1, \dots, j_s such that $a_{j_1} = \dots = a_{j_s} = 0$, and hence $W_1 = \{ \mathbf{y} = {}^t(y_0, \dots, y_n) \mid y_{j_1} = \dots = y_{j_s} = 0 \}$. We denote the $s \times r$ matrix $(p_{j_\mu i_\lambda})_{1 \leq \mu \leq s, 1 \leq \lambda \leq r}$ by P' . Since by Lemma 2.1

any vector $\mathbf{x} \in W_2$ is written as $\mathbf{x} = \sum_{\lambda=1}^r x_\lambda \mathbf{p}_{i_\lambda}$, the condition that $\mathbf{x} \in W_1 \cap W_2$ is described as

$$P' \begin{pmatrix} x_1 \\ \vdots \\ x_r \end{pmatrix} = \begin{pmatrix} 0 \\ \vdots \\ 0 \end{pmatrix} \in \mathbf{C}^s.$$

By Proposition 1.3 the rank of P' is maximal. Since $\mathbf{v} \in W_1 \cap W_2$, we have $W_1 \cap W_2 \neq 0$ and therefore $s < r$ and $\text{rank } P' = s$. Hence $\dim W_1 \cap W_2 = r - s$. Thus

$$\dim(W_1 + W_2) = \dim W_1 + \dim W_2 - \dim W_1 \cap W_2 =$$

$n + 1 - s + r - \dim W_1 \cap W_2 = n + 1$. This completes the proof of Theorem 1.2.

Remark 1. If $n + 1 = lm$, where l, m are integers with $1 < l, m < n + 1$, then $p_{lm} = \zeta^{lm} = 1$. Hence if we put $\mathbf{v} = \mathbf{p}_0 - \mathbf{p}_m = a_0 \mathbf{e}_0 + a_1 \mathbf{e}_1 + \cdots + a_n \mathbf{e}_n$, then we have $a_0 = a_l = 0$, $W_2 = \langle \mathbf{p}_0, \mathbf{p}_m \rangle$ and $W_1 \cap W_2 \neq 0$. Therefore $\dim W_1 \leq n + 1 - 2$, $\dim W_2 = 2$ and $\dim(W_1 \cap W_2) \geq 1$. Hence $\text{rank } J = \dim W_1 + \dim W_2 - \dim(W_1 \cap W_2) \leq n + 1 - 2 + 2 - 1 = n$. Thus if $n + 1$ is not a prime, then the map $\bar{f} : \mathbf{CP}^n \rightarrow \mathbf{CP}^{2n}$ in Theorem 1.1 is not an immersion.

3. Proof of Proposition 1.3

Proposition 1.3 is equivalent to the following proposition:

Proposition 3.1. *Let p be a prime and $\zeta = \exp(2\pi\sqrt{-1}/p)$. For any integer r such that $1 \leq r \leq p$ and any sequence of integers k_1, k_2, \dots, k_r such that $0 \leq k_1 < k_2 < \cdots < k_r < p$, we define the polynomial $D(x_1, x_2, \dots, x_r) \in \mathbf{Z}[x_1, x_2, \dots, x_r]$ by*

$$D(x_1, x_2, \dots, x_r) = \begin{vmatrix} x_1^{k_1} & x_2^{k_1} & \cdots & x_r^{k_1} \\ x_1^{k_2} & x_2^{k_2} & \cdots & x_r^{k_2} \\ \vdots & \vdots & \ddots & \vdots \\ x_1^{k_r} & x_2^{k_r} & \cdots & x_r^{k_r} \end{vmatrix}.$$

Then for any sequence of integers l_1, l_2, \dots, l_r such that $0 \leq l_1 < l_2 < \dots < l_r < p$, $D(\zeta^{l_1}, \zeta^{l_2}, \dots, \zeta^{l_r}) \neq 0$.

In what follows, we prove Proposition 3.1 supposing that the assumption in Proposition 3.1 holds.

Since $D(x_1, x_2, \dots, x_r)$ is an alternating polynomial in x_1, x_2, \dots, x_r , we have

$$D(x_1, x_2, \dots, x_r) = \prod_{1 \leq i < j \leq r} (x_j - x_i) D'(x_1, x_2, \dots, x_r),$$

$$D'(x_1, x_2, \dots, x_r) \in \mathbb{Z}[x_1, \dots, x_r].$$

First we prepare following lemma:

Lemma 3.2. *If $D(\zeta^{l_1}, \zeta^{l_2}, \dots, \zeta^{l_r}) = 0$, then $D'(1, 1, \dots, 1) \equiv 0 \pmod{p}$.*

Proof. Since $\zeta^{l_i} \neq \zeta^{l_j}$ for $i \neq j$, $D(\zeta^{l_1}, \zeta^{l_2}, \dots, \zeta^{l_r}) = 0$ implies $D'(\zeta^{l_1}, \zeta^{l_2}, \dots, \zeta^{l_r}) = 0$. Let $D'(x^{l_1}, x^{l_2}, \dots, x^{l_r}) = F(x) \in \mathbb{Z}[x]$. Then $F(\zeta) = 0$ and therefore the minimal polynomial of ζ divides $F(x)$ in $\mathbb{Z}[x]$. Thus we have

$$F(x) = Q(x)(x^{p-1} + \dots + x + 1), \quad Q(x) \in \mathbb{Z}[x].$$

Hence $F(1) = Q(1)p \equiv 0 \pmod{p}$. This completes the proof.

Now we calculate $D'(1, 1, \dots, 1)$. For an integer k and a positive integer j we define the polynomial $\sigma_{k,j}(x_1, \dots, x_j)$ by

$$\sigma_{k,j}(x_1, \dots, x_j) = \begin{cases} \sum_{\lambda_1 + \dots + \lambda_j = k, \lambda_i \geq 0} x_1^{\lambda_1} \dots x_j^{\lambda_j}, & \text{if } k \geq 0, \\ 0, & \text{if } k < 0. \end{cases}$$

Then we have the following lemma:

Lemma 3.3.

$$\sigma_{k,j+1}(x_1, \dots, x_j, y) - \sigma_{k,j+1}(x_1, \dots, x_j, z) = (y - z)\sigma_{k-1,j+2}(x_1, \dots, x_j, y, z).$$

Proof.

$$\begin{aligned}
& \sigma_{k,j+1}(x_1, \dots, x_j, y) - \sigma_{k,j+1}(x_1, \dots, x_j, z) \\
&= \sum_{\lambda_1 + \dots + \lambda_j + \mu = k} x_1^{\lambda_1} \dots x_j^{\lambda_j} (y^\mu - z^\mu) \\
&= (y - z) \sum_{\lambda_1 + \dots + \lambda_j + \mu = k} x_1^{\lambda_1} \dots x_j^{\lambda_j} \sum_{\mu_1 + \mu_2 = \mu - 1} y^{\mu_1} z^{\mu_2} \\
&= (y - z) \sum_{\lambda_1 + \dots + \lambda_j + \mu_1 + \mu_2 = k - 1} x_1^{\lambda_1} \dots x_j^{\lambda_j} y^{\mu_1} z^{\mu_2} \\
&= (y - z) \sigma_{k-1,j+2}(x_1, \dots, x_j, y, z).
\end{aligned}$$

From above lemma we get following:

Lemma 3.4.

$$D'(x_1, \dots, x_r)$$

$$= \begin{vmatrix} x_1^{k_1} & \sigma_{k_1-1,2}(x_1, x_2) & \sigma_{k_1-2,3}(x_1, x_2, x_3) & \dots & \sigma_{k_1-(r-1),r}(x_1, x_2, \dots, x_r) \\ x_1^{k_2} & \sigma_{k_2-1,2}(x_1, x_2) & \sigma_{k_2-2,3}(x_1, x_2, x_3) & \dots & \sigma_{k_2-(r-1),r}(x_1, x_2, \dots, x_r) \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ x_1^{k_r} & \sigma_{k_r-1,2}(x_1, x_2) & \sigma_{k_r-2,3}(x_1, x_2, x_3) & \dots & \sigma_{k_r-(r-1),r}(x_1, x_2, \dots, x_r) \end{vmatrix}.$$

Proof. Using Lemma 3.3 we have

$$D(x_1, \dots, x_r)$$

$$= \begin{vmatrix} x_1^{k_1} & x_2^{k_1} - x_1^{k_1} & \dots & x_r^{k_1} - x_1^{k_1} \\ x_1^{k_2} & x_2^{k_2} - x_1^{k_2} & \dots & x_r^{k_2} - x_1^{k_2} \\ \vdots & \vdots & \vdots & \vdots \\ x_1^{k_r} & x_2^{k_r} - x_1^{k_r} & \dots & x_r^{k_r} - x_1^{k_r} \end{vmatrix} \\
= \prod_{j=2}^r (x_j - x_1) \begin{vmatrix} x_1^{k_1} & \sigma_{k_1-1,2}(x_1, x_2) & \dots & \sigma_{k_1-1,2}(x_1, x_r) \\ x_1^{k_2} & \sigma_{k_2-1,2}(x_1, x_2) & \dots & \sigma_{k_2-1,2}(x_1, x_r) \\ \vdots & \vdots & \vdots & \vdots \\ x_1^{k_r} & \sigma_{k_r-1,2}(x_1, x_2) & \dots & \sigma_{k_r-1,2}(x_1, x_r) \end{vmatrix}$$

$$\begin{aligned}
&= \prod_{j=2}^r (x_j - x_1) \prod_{j=3}^r (x_j - x_2) \\
&\quad \times \begin{vmatrix} x_1^{k_1} & \sigma_{k_1-1,2}(x_1, x_2) & \sigma_{k_1-2,3}(x_1, x_2, x_3) & \cdots & \sigma_{k_1-2,3}(x_1, x_2, x_r) \\ x_1^{k_2} & \sigma_{k_2-1,2}(x_1, x_2) & \sigma_{k_2-2,3}(x_1, x_2, x_3) & \cdots & \sigma_{k_2-2,3}(x_1, x_2, x_r) \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ x_1^{k_r} & \sigma_{k_r-1,2}(x_1, x_2) & \sigma_{k_r-2,3}(x_1, x_2, x_3) & \cdots & \sigma_{k_r-2,3}(x_1, x_2, x_r) \end{vmatrix} \\
&\quad \vdots \\
&= \prod_{1 \leq i < j \leq r} (x_j - x_i) \begin{vmatrix} x_1^{k_1} & \sigma_{k_1-1,2}(x_1, x_2) & \cdots & \sigma_{k_1-(r-1),r}(x_1, x_2, \dots, x_r) \\ x_1^{k_2} & \sigma_{k_2-1,2}(x_1, x_2) & \cdots & \sigma_{k_2-(r-1),r}(x_1, x_2, \dots, x_r) \\ \vdots & \vdots & \vdots & \vdots \\ x_1^{k_r} & \sigma_{k_r-1,2}(x_1, x_2) & \cdots & \sigma_{k_r-(r-1),r}(x_1, x_2, \dots, x_r) \end{vmatrix}.
\end{aligned}$$

Now we can calculate $D'(1, 1, \dots, 1)$ as follows:

Lemma 3.5. $2!3!\cdots(r-1)! D'(1, 1, \dots, 1) = \prod_{1 \leq i < j \leq r} (k_j - k_i).$

Proof. If $l \geq 0$, $\sigma_{l,j}(1, 1, \dots, 1) = \binom{j+l-1}{l}$. Hence if $k \geq j-1$,

$$\sigma_{k-(j-1),j}(1, 1, \dots, 1) = \binom{k}{k-(j-1)} = \frac{k(k-1)\cdots(k-(j-2))}{(j-1)!}. \quad \text{This}$$

equality holds also for $k < j-1$. Thus by Lemma 3.4 we have

$$\begin{aligned}
&2!3!\cdots(r-1)! D'(1, 1, \dots, 1) \\
&= \begin{vmatrix} 1 & k_1 & k_1(k_1-1) & \cdots & k_1(k_1-1)\cdots(k_1-(r-2)) \\ 1 & k_2 & k_2(k_2-1) & \cdots & k_2(k_2-1)\cdots(k_2-(r-2)) \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ 1 & k_r & k_r(k_r-1) & \cdots & k_r(k_r-1)\cdots(k_r-(r-2)) \end{vmatrix} \\
&= \begin{vmatrix} 1 & k_1 & k_1^2 & \cdots & k_1^{r-1} \\ 1 & k_2 & k_2^2 & \cdots & k_2^{r-1} \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ 1 & k_r & k_r^2 & \cdots & k_r^{r-1} \end{vmatrix} \\
&= \prod_{1 \leq i < j \leq r} (k_j - k_i).
\end{aligned}$$

By Lemma 3.5 any prime factor of $D'(1, 1, \dots, 1)$ is smaller than p . Hence $D'(1, 1, \dots, 1)$ is not a multiple of p . Thus by Lemma 3.2, $D(\zeta^{l_1}, \zeta^{l_2}, \dots, \zeta^{l_r}) \neq 0$. This completes the proof of Proposition 3.1.

Acknowledgement

The author expresses his gratitude to Professor Tsutomu Yasui of Kagoshima University for his kind advice and helpful discussion during the preparation of this manuscript.

References

- [1] S. Feder, Immersions and embeddings in complex projective spaces, *Topology* 4 (1965), 143-158.
- [2] S. Feder, On the embedding $\mathbf{CP}_n \subset \mathbf{CP}_{2n}$, *Proc. Amer. Math. Soc.* 32 (1972), 327-328.
- [3] M. W. Hirsch, Immersions of manifolds, *Trans. Amer. Math. Soc.* 93 (1959), 242-276.
- [4] T. Kobayashi, Immersions and embeddings of lens spaces, *Hiroshima Math. J.* 2 (1972), 345-352.
- [5] T. Kobayashi, Immersions of lens spaces in complex projective spaces, *Mem. Fac. Sci. Kochi Univ. Ser. A Math.* 20 (1999), 57-65.
- [6] Y. Kuramoto, T. Murata and T. Yasui, Non-embeddability of manifolds into projective spaces, *Math. J. Toyama Univ.* 23 (2000), 79-83.
- [7] H. Suzuki, Higher order non-singular immersions in projective spaces, *Quart. J. Math. Oxford Ser. (2)* 20 (1969), 33-44.
- [8] E. Thomas, On the existence of immersions and submersions, *Trans. Amer. Math. Soc.* 132 (1968), 387-394.
- [9] T. Yasui, Immersions of real projective spaces into complex projective spaces, *Hiroshima Math. J.* 17(3) (1987), 659-664.

